A & 0ol & AF & F Al A
20179 =& 1= 48 E&S013
T B USRURAY
= LH & H cH
L e (ol @
- O 4t 0 A 0l Ao -
THg-E-Ees (ZF ) (=) Hluses
700 EdLUSEUHENN 211,043 205,351 5,692
720 WEHH 211,043 205,351 5,692
722 GIE=Y0=+== 211,043 205,351 5,692
722-03 GESAS3s ==Y 100,000 90,000 10,000
He™AE 100,000 90,000 10,000
= Off & 100,000 90,000 10,000
OSg2el)I 23233 = (AL XNEH)
100,000,000& 100,000
722-04 O &30l Rt 111,043 115,351 A4,308
e AED 111,043 115,351 A4,308
= 0fl &F 110,541 115,351 24,810
sgaellz HE= 0kt 110,541,000 110,541
JISHEHZX ( 111,043) | ( 110,541) 502)
Osgaellla HE=3 oIk
2,840,421,231& x3.909405% | ( 111,043) | ( 110,541) 502)




N = 0 &8 AF S & Al A
201798 & =&18 8830|123
S EEAED
HaM: JI=E0| ) £E2 EXAMHA MZB2(MIEXN/ES - IHELHA)

o OB SAAY(HES)|) CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
HdaA~E 211,043 205,351 5,692
JFE0| &) £22 EXAMHA M2(MIEX/ES - DF 100,000 90,000 10,000

=9014)
AR STAS(HEHSIS) 100,000 90,000 10,000
Ao AlglEEs K& 100,000 90,000 10,000
201 A E2AY| 4,000 0 4,000
01 Ar®2telt] 4,000 0 4,000
= 0l & 4,000 0 4,000
OANSIB2Z 0Dl d8HE D=
4,000,000& 4,000
307 QIz2tol & 96,000 90,000 6,000
02 QI2tFAAIEE X 96,000 90,000 6,000
= 0 & 96,000 90,000 6,000
OdZEII=2 NEAMY(22) 96,000, 000& 96,000
HEES(HAEAED)(MIEXN/ES - IIISLHAY) 111,043 115,351 N4, 308
HWEHAXES(EEHSII2) 111,043 115,351 N4, 308
Sga2I2 g2 111,043 115,351 N 4,308
704 HE2 111,043 115,351 N4, 308
01 deg=2 111,043 115,351 N4,308
= 0ff & 110,541 115,351 N4 ,810
Osgr2elll=2 o2 110,541,000& 110,541
JISHEHZ X ( 111,043) | ( 110,541) 502)
Osgr2elll=2 o2 111,043,000 |( 111,043) | ( 110,541) 502)
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